

Purely Rickart Module

Saad Abdulkadhim Al-Saadi and Tamadher Arif Ibrahiem

Department of Mathematics
College of Science, Al- Mustansiriyah University, Iraq

Copyright 2014 Saad Abdulkadhim Al-Saadi and Tamadher Arif Ibrahiem. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

A module M over a ring R is said to be purely Rickart if the right annihilator in M of each endomorphism ring of a module M is a pure submodule of M . Purely Rickart module is a proper generalization of Rickart module. Some properties of the purely Rickart module are investigated. Also, we prove that the ring $n \times n$ matrix over R is a purely Rickart ring if and only if R is a weakly n -semihereditary ring. Every n -generated projective module is purely Rickart if and only if the free R -module $R^{(n)}$ is a purely Rickart. Others results are provided in this paper.

Keywords: purely Rickart module, Rickart module, weakly n -semihereditary ring

1. Introduction

Throughout this paper, all rings are associative with identity and all modules are unitary right R -modules. A ring R is a right PP (resp. PF) ring if every principal right ideal is projective (resp. flat). Left PP (resp. PF) is defined in a similar way. These concepts are introduced by A. Hattori [2]. A ring R is a right PP (resp. PF) ring if and only if the right annihilator of each element in R is a direct summand (resp. pure) in R [5]. An ideal I of a ring R is right (left) pure in R if for each element $a \in I$ there is $b \in I$ such that $a = ab$ (ba) [12]. P.M. Cohn generalized the definition of purity for abelian group to a pure submodule. A submodule P of a module M is pure if and only if the sequence $0 \rightarrow P \otimes E \rightarrow M \otimes E$ is exact for all left modules E [5]. Also, Fieldhouse [5] generalized the Von Neumann regular ring to a Von Neumann regular module. A module M is said to be Von Neumann module if and only if every submodule of M is pure. A ring R is

said to be (quasi-, right p.q.-) Baer if the right annihilator of every (right ideal, principal right) nonempty subset of R is generated (as a right ideal) by an idempotent of R [13], [7] and [9] respectively. Left p.q-Baer is defined in a similar way. In [11], L. Zhongkui and Z. Renyu, introduced a left APP-ring as a generalization of left p.q.-Baer rings and right PP-rings. A ring R is a left APP-ring if the left annihilator of every principle left ideal is right s-unital (an ideal I in R is s-unital if for each element $a \in I$ there is an element $x \in I$ such that $ax=a$) as an ideal of R . A. H. Al- saadi [3] introduced purely (quasi-)Baer modules as a generalization of (quasi-)Baer module. An R -module M is purely (quasi-) Baer if the right annihilator of every (two sided) left ideal I of $S = \text{End}_R(M)$ is pure in M . In this paper, we introduce purely Rickart modules as a generalization to purely (quasi-) Baer modules and Rickart modules. A module M is purely Rickart if the right annihilator in M of each endomorphism of M is a pure submodule of M . This class contains the class of Von Neumann regular, semisimple and Rickart modules (the right annihilator in M of each endomorphism of M is a direct summand of M [8]). We will refer to the endomorphism ring of a right R -module M by $S = \text{End}_R(M)$, the right (left) annihilator of each element $\alpha \in S$ in M by $r_M(\alpha) = \{m \in M \mid \alpha(m) = 0\}$ ($\ell_M(\alpha) = \{m \in M \mid m\alpha = 0\}$) and the right annihilator of each element a in a ring R is $r_R(a) = \{r \in R \mid ar = 0\}$. Also, we will refer to a (not) pure submodule by $(\not\leq^p) \leq^p$.

2. Purely Rickart modules

We introduce the following definition

Definition 2.1.

A module M is said to be *purely Rickart* if $\ker \alpha = r_M(\alpha)$ is a pure submodule of M for each $\alpha \in S = \text{End}_R(M)$. A ring R is right purely Rickart if R_R is purely Rickart module.

Remarks and examples 2.2.

1. A ring R is right purely Rickart if and only if R is a right PF ring.

Proof. Follows from [5, Theorem 2.2, CH.6]. \blacksquare

2. Every Rickart (and hence semisimple) module M is purely Rickart.
3. The converse of (2) is not true in general. As the example in [11, Example 2.5], let Z be the ring of integers and let $S = (\prod_{i=1}^{\infty} Z/2Z) / (\bigoplus_{i=1}^{\infty} Z/2Z)$. Then in the power series $R = S[[x]]$, every principal ideal flat and hence R is PF ring. So, by (1) R is purely Rickart ring. But by [11, Example 2.5.], R is not Rickart (PP) ring.
4. Every Von Neumann regular module is purely Rickart module. The converse is not true in general. For example, Q_Z is purely Rickart which is not Von Neumann regular module: in fact, $Z \not\leq^p Q$ where the sequence $0 \rightarrow Z \rightarrow Q \rightarrow \frac{Q}{Z} \rightarrow 0$ is not pure exact.

- 5. Every purely Baer module is a purely Rickart.
- 6. The purely Rickart property transforms under an isomorphism map.

Proof. Let M_1 and M_2 be two modules such that M_1 is a purely Rickart and there is an isomorphism $\beta: M_1 \rightarrow M_2$. Let $S_i = \text{End}_R(M_i)$ for $i = 1, 2$. Define: $S_1 \rightarrow S_2$ by $(g) = \beta g \beta^{-1}$ for each $g \in S_1$. Since β is an isomorphism, then so is ψ . Let $\alpha \in S_2$. We are finished if we can prove $\beta(r_{M_1}(\psi^{-1}(\alpha))) = r_{M_2}(\alpha)$. For that: put $\psi^{-1}(\alpha) = \varphi \in S_1$. Since M_1 is purely Rickart, then $r_{M_1}(\varphi) \leq^p M_1$. If $b \in r_{M_2}(\alpha)$, then $\beta(a) = b$ for some $a \in M_1$ (β is onto). Now $b \in r_{M_2}(\alpha)$ and $(\varphi) = \alpha$, mean $0 = \psi(\varphi)b = \beta\varphi\beta^{-1}(b) = \beta\varphi(a)$. Since β is a homomorphism, $\varphi(a) = 0$. Hence $a \in r_{M_1}(\psi^{-1}(\alpha))$ such that $b = \beta(a) \in \beta(r_{M_1}(\psi^{-1}(\alpha)))$. Thus $r_{M_2}(\alpha) \leq \beta(r_{M_1}(\psi^{-1}(\alpha)))$. Now, let $\beta(x) \in \beta(r_{M_1}(\psi^{-1}(\alpha)))$ and $\psi^{-1}(\alpha) = \alpha$. So $(g)\beta(x) = \beta g \beta^{-1}(\beta(x)) = \beta g(x) = 0$. Hence $\beta(x) \in r_{M_2}(\psi(g)) = r_{M_2}(\alpha)$. Thus $\beta(r_{M_1}(\psi^{-1}(\alpha))) \leq r_{M_2}(\alpha)$ and so $\beta(r_{M_1}(\psi^{-1}(\alpha))) = r_{M_2}(\alpha)$. Now, since $r_{M_1}(\psi^{-1}(\alpha)) \leq^p M_1$ where M_1 is purely Rickart, then $r_{M_2}(\alpha) \leq^p M_2$. Therefore M_2 is purely Rickart. ■

7. Homomorphic image of a purely Rickart module may be not purely Rickart. In fact, the Z -module Z is purely Rickart while an epimorphic image Z_4 of Z is not purely Rickart as Z -module. For that: let $f: Z_4 \rightarrow Z_4$ defined by $f(\bar{1}) = \bar{2}$. Then $r_{Z_4}(f) = \{ \bar{0}, \bar{2} \}$ is not pure submodule of Z_4 .

A submodule of a purely Rickart module may be not purely Rickart in general. For example the Z -module $Z \oplus Z_2$ is purely Rickart while the submodule $Z \oplus Z_2$ is not. In fact, if one takes $\alpha: Z \oplus Z_2 \rightarrow Z \oplus Z_2$ defined by $\alpha(a, \bar{b}) = (0, \bar{a})$, then $\text{Ker } \alpha = 2Z \oplus Z_2$ is not pure submodule in $Z \oplus Z_2$ where $2Z$ is not pure in Z . Therefore $Z \oplus Z_2$ is not purely Rickart submodule.

Proposition 2.3. Let M be a purely Rickart module and $N \leq M$. If every $\alpha \in \text{End}_R(N)$ can be extended to $\bar{\alpha} \in S = \text{End}_R(M)$ then N is purely Rickart module.

Proof. Let $\alpha \in \text{End}(N)$. So there is $\bar{\alpha} \in S$ such that $\bar{\alpha}|_N = \alpha$. Since M is purely Rickart, hence $\text{Ker } \bar{\alpha} \leq^p M$. So $\text{Ker } \alpha \leq^p M$ but $\text{Ker } \alpha \leq N$. Hence $\text{Ker } \alpha \leq^p N$ [5, Proposition 1.2-2, CH.1]. Therefore N is purely Rickart module. ■

Proposition 2.4. Every direct summand of a purely Rickart module is purely Rickart.

Proof. Let M be a purely Rickart module and $S = \text{End}_R(M)$, $N \leq^\oplus M$. Then $N = eM$ for some $e^2 = e \in S$. Let $\alpha \in \text{End}_R(N) = \text{End}_R(eM)$. Put $\beta = \alpha e$. Then $\text{ker } \beta = [eM \cap \text{ker } \alpha] \oplus (1-e)M = \text{ker } \alpha \oplus (1-e)M$. Since M is purely Rickart and $\beta \in S$, $\text{ker } \beta \leq^p M$. But $\text{ker } \alpha \leq^\oplus \text{ker } \beta$ hence $\text{ker } \alpha \leq^p \text{ker } \beta \leq^p M$ and so $\text{ker } \alpha \leq^p M$. But $\text{ker } \alpha \leq N$, then $\text{ker } \alpha \leq^p N$ [5, Proposition 1.2, CH.1]. ■

Recall that a module M is pure split if every pure submodule of M is a direct summand [6]. Clear that every semisimple is pure split, the Z -module Z is pure

split while the Z -module $\prod_{\alpha \in I} Z_{\alpha}$ is not where if $M = \prod_{\alpha \in I} Z_{\alpha}$ and $N = \bigoplus_{\alpha \in I} Z_{\alpha} \leq M$ then N is pure submodule which is not direct summand in M . A module $M \neq 0$ is pure simple if the only pure submodule of M is the trivial submodules of M [5].

Proposition 2.5. Let M be a pure split module. Then M is purely Rickart if and only if M is Rickart module.

Proposition 2.6. Let M be a pure simple, then the following conditions are equivalent

1. M is a purely Rickart
2. Every nonzero endomorphism of M is a monomorphism.
3. M is a Rickart

Proof. (1 \Rightarrow 2) Let α be a nonzero endomorphism of M . Since M is purely Rickart, then $\text{Ker } \alpha \leq^p M$. But M is pure simple and $\alpha \neq 0$. Hence $\text{ker } \alpha = 0$. Thus α is a monomorphism.

(2 \Rightarrow 3) and (3 \Rightarrow 1) Obvious. \blacksquare

Remark 2.7. Consider the Z -module $M = Z_2 \oplus Z_2$, then M is purely Rickart module (where M is semisimple) which is not pure simple. One can easily show the projection map $\alpha: M \rightarrow Z_2$ is not monomorphism.

Recall that an exact sequence of right modules $0 \rightarrow N \rightarrow M \rightarrow F \rightarrow 0$ is purely exact if and only if for every left module D , the sequence $0 \rightarrow N \otimes D \rightarrow M \otimes D \rightarrow F \otimes D \rightarrow 0$ is exact [5].

Proposition 2.8. A module M is purely Rickart if and only if the short exact sequence $0 \rightarrow \text{Ker } \alpha \rightarrow M \rightarrow \frac{M}{\text{Ker } \alpha} \rightarrow 0$ is purely exact for each $\alpha \in S = \text{End}_R(M)$.

Corollary 2.9. Let M be a module and $S = \text{End}_R(M)$. Then M is a purely Rickart if and only if $\text{Im } \alpha$ is a flat submodule of M for each $\alpha \in S$.

Proof. Follows $\frac{M}{\text{Ker } \alpha} \cong \text{Im } \alpha$ and [5, Theorem 1.7, CH.1] and Proposition 2.8 \blacksquare
Recall that a module M is CF if every cyclic submodule of M is flat [1].

Corollary 2.10. Every cyclic CF module is purely Rickart.

Proof. Suppose that M is a cyclic C.F. module and $\alpha \in S = \text{End}_R(M)$. Then $\text{Im } \alpha$ is cyclic submodule of M . So, $\text{Im } \alpha$ is a flat submodule of M . Since α is an arbitrary endomorphism of S , then from Corollary (2.9), M is a purely Rickart module. \blacksquare

A module P is said to be pure projective if and only if for any pure exact sequence $0 \rightarrow N \rightarrow M \rightarrow F \rightarrow 0$, the induced sequence $0 \rightarrow \text{Hom}(N, P) \rightarrow \text{Hom}(M, P) \rightarrow \text{Hom}(F, P) \rightarrow 0$ is exact [5].

Proposition 2.11. If $\text{Im}\alpha$ is a pure projective (and hence projective) submodule of M for any $\alpha \in S$, then M is a purely Rickart module if and only if M is a Rickart module.

Proof. Suppose that M is a purely Rickart module. Since $\text{Im}\alpha$ is a pure projective submodule of M and $r_M(\alpha) \leq^p M$ for all $\alpha \in S$, then the short exact sequence $0 \rightarrow r_M(\alpha) \rightarrow M \rightarrow \text{Im}\alpha \rightarrow 0$ is a pure exact and hence splits [5, Theorem 2.4, CH.2]. So $r_M(\alpha) \leq^\oplus M$. Therefore M is a Rickart module. The converse is clear. \blacksquare

Proposition 2.12. If a module M is a purely Rickart module then for each $N \leq M$ with $\frac{M}{N} \cong L \leq^\oplus M$ we have $N \leq^p M$.

Proof. Suppose M is purely Rickart module. Let $N \leq M$ with $\frac{M}{N} \cong L \leq^\oplus M$. Then, there is an isomorphism $\alpha: \frac{M}{N} \rightarrow L$, $\rho: M \rightarrow \frac{M}{N}$ the projection map and $j: L \rightarrow M$ the inclusion map. Put $\beta = j\alpha\rho$, so clearly that $\ker\beta = \rho^{-1}(0) = N$. Since M is a purely Rickart, hence $N \leq^p M$. \blacksquare

The following proposition shows the converse of the proposition (2.12) is true if $\text{Im}\alpha$ is an isomorphic to a direct summand of M .

Proposition 2.13. For a module M , if $\text{Im}\alpha$ is an isomorphic to a direct summand of M for each $\alpha \in S = \text{End}_R(M)$ and for each $N \leq M$ with $\frac{M}{N} \cong L \leq^\oplus M$ implies $N \leq^p M$, then M is purely Rickart .

Proof. Let $\alpha \in S$. Since $\frac{M}{\text{Ker}\alpha} \cong \text{Im}\alpha \cong A \leq^\oplus M$. Then by hypothesis, $\text{ker}\alpha \leq^p M$. \blacksquare

Recall that from Remarks and examples (2.2-7), a quotient of purely Rickart not necessary purely Rickart. Consider the following proposition.

Proposition 2.14. If M is a purely Rickart module, then for any $N \leq^\oplus M$, $\frac{M}{N}$ is purely Rickart module.

Proof. Let $N \leq^\oplus M = N \oplus L$ for some $L \leq M$, so $\frac{M}{N} = \frac{N \oplus L}{N} \cong \frac{L}{N \cap L} \cong L$. Then by Proposition (2.4) L is purely Rickart and hence $\frac{M}{N}$ is purely Rickart (Remarks and examples (2.2-6)) \blacksquare

We needed to the following proposition which appears in [5, Proposition 1.5, CH.1]

Proposition 2.15. Let $0 \rightarrow P_i \rightarrow M_i \rightarrow N_i \rightarrow 0$ be exact for all $i \in I$, any index set, and let $P = \bigoplus P_i$ (i in I) and $M = \bigoplus M_i$ (i in I). Then P is pure in M if and only if P_i is pure in M_i for all i in I .

The Z -module $Z \oplus Z_2$ is not purely Rickart even though each of Z and Z_2 are purely Rickart Z -module. Recall that a submodule N of a module M is fully invariant if $f(N) \leq N$ for each $f \in S = \text{End}(M)$. It's well known that if a module $M = M_1 \oplus M_2$, then M_1 is a fully invariant submodule of M if and only if $\text{Hom}_R(M_1, M_2) = 0$. The following result proves: the purely Rickart property is closed under the direct sum if every direct summand is fully invariant purely Rickart.

Proposition 2.16. Let $M = \bigoplus_{i \in I} M_i$ where each of M_i is fully invariant submodule, then M is purely Rickart if and only if M_i is purely Rickart.

Proof. Suppose that each of M_i ($i \in I$) is purely Rickart module. Let $M = \bigoplus_{i \in I} M_i$, $S = \text{End}_R(M)$ and $\alpha = (\alpha_{ij}) \in S$ be arbitrary where $\alpha_{ij} \in \text{Hom}_R(M_j, M_i)$. Since M_i is fully invariant for each $i \in I$ then $\text{Hom}_R(M_i, M_j) = 0$ for each $i \neq j$ and $\alpha(M_i) \leq M_i$ for each $i \in I$. Since $r_M(\alpha) = \bigoplus_{i \in I} r_{M_i}(\alpha_{ii})$, then by Proposition(2.15) M is purely Rickart module. The converse follows from Proposition (2.4). ■

Let R be a Commutative ring and M be an R -module. Then the idealization of a module M ($R (+) M$ for short) is a commutative ring with multiplication $(r_1, m_1)(r_2, m_2) = (r_1 r_2, r_1 m_2 + r_2 m_1)$ [4].

Proposition 2.17. Let $B = R (+) M$ be the idealization of a module M . If B is purely Rickart, then so is R . The converse is true when $M = 0$.

Proof. Let $a \in R$ and $b \in r_R(a)$. Put $B = R (+) M$, then $(b, 0) \in B$. Since $r_B((a, 0)) = r_R(a) \times r_M(a)$ and $(a, 0)(b, 0) = (ab, 0) = 0$, then $(b, 0) \in r_B((a, 0))$. So, there exist $(c, d) \in r_B((a, 0))$ such that $(b, 0)(c, d) = (b, 0)$ where B is a purely Rickart ring. Since $(b, 0)(c, d) = (bc, bd + 0) = (b, 0)$. Then $bc = b$ and hence $r_R(a) \leq^P R$. Therefore R is a purely Rickart ring. Conversely, suppose that R is a purely Rickart and $M = 0$. Then $R (+) M = R(+)\{0\}$. Hence, for each $(a, c) \in R (+) M$, $(a, c) = (a, 0)$. If $(n, m) \in r_B((a, 0)) = r_R(a) \times \{0\}$, then $(n, m) = (n, 0)$ and so there is a $c \in r_R(a)$ such that $nc = n$. That means, there is $(c, 0) \in r_B(a, 0)$ such that $(n, 0)(c, 0) = (nc, 0) = (n, 0) \in r_B(a, 0)$. So, $r_B(a, 0) \leq^P B = R (+) M$. Therefore $R (+) M$ is a purely Rickart ring. ■

Proposition 2.18. Let R and S be rings and ${}_R V_S$ R - S bimodule and $C = \begin{pmatrix} R & V \\ 0 & S \end{pmatrix}$. If C is right purely Rickart ring. Then both R and S are right purely Rickart.

Proof . Suppose that C is a left purely Rickart. Let $\alpha = \begin{pmatrix} a & 0 \\ 0 & 0 \end{pmatrix} \in C$. Since C is purely Rickart ring, then for each element $\gamma = \begin{pmatrix} r & v \\ 0 & s \end{pmatrix} \in r_C(\alpha)$ there is $\beta = \begin{pmatrix} x & y \\ 0 & z \end{pmatrix} \in r_C(\alpha)$ such that $\gamma = \gamma\beta$. Now, $\alpha\gamma = \begin{pmatrix} a & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} r & v \\ 0 & s \end{pmatrix} = \begin{pmatrix} ar & av \\ 0 & 0 \end{pmatrix} =$

$\begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}$. So $r_C(\alpha) = \begin{pmatrix} r_R(a) & r_v(a) \\ 0 & s \end{pmatrix}$. Since $\gamma\beta = \begin{pmatrix} r & v \\ 0 & s \end{pmatrix} \begin{pmatrix} x & y \\ 0 & z \end{pmatrix} = \begin{pmatrix} rx & ry + vz \\ 0 & sz \end{pmatrix} = \begin{pmatrix} r & v \\ 0 & s \end{pmatrix} = \gamma$. So $r = r_X$. Since $\alpha\beta = \begin{pmatrix} a & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} x & y \\ 0 & z \end{pmatrix} = \begin{pmatrix} ax & ay \\ 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}$ then $x \in r_R(a)$. Now, for all $r \in r_R(a)$, there is $x \in r_R(a)$ such that $r = rx$. Therefore R is right purely Rickart ring. Let $\mu = \begin{pmatrix} 0 & 0 \\ 0 & b \end{pmatrix} \in C$, by the some way we can show that S is right purely Rickart. ■

Proposition 2.19. Let R be a Noetherian ring. Then R is a right purely Rickart if and only if R is a right Rickart ring.

Proof. Follows the fact, in a Noetherian ring, a pure ideal and a direct summand ideal are equivalent [12, proposition 1.1.14]. ■

Freser and Nicholson in [10] proved that a ring R is a left PP ring if and only if for any nonempty $X \leq R$ then $a \in r(X)a$ for all $a \in r(X)$. We will analogous this resulted in the following.

Proposition 2.20. For a ring R the following conditions are equivalent

1. R is a right purely Rickart
2. For all finitely generated left ideal J of R , the right annihilator of J in R is a pure in R as a right ideal.
3. For all finitely generated ideal J and a finite set $\{x_1, \dots, x_n\} \leq r_R(J)$, there is $b \in r_R(J)$ such that $x_i = x_i b$ for all $i = 1, \dots, n$.

Proof. Clearly that $3 \Rightarrow 2 \Rightarrow 1$.

$1 \Rightarrow 2$) Suppose that R is a purely Rickart ring and J is a left ideal in R generated by $\{x_1, x_2, \dots, x_n\}$. Then $r_R(J) = \bigcap_{i=1}^n r_R(Rx_i) = \bigcap_{i=1}^n r_R(x_i)$. Since R is a purely Rickart, then for each $1 \leq i \leq n$, $r_R(x_i) \leq^p R$. Now, if $b \in r_R(J)$ then there exists $c_i \in r_R(x_i)$ for each $1 \leq i \leq n$ such that $b = bc_i$. Put $c = c_1 c_2 \dots c_n \in \bigcap_{i=1}^n r_R(x_i) = r_R(J)$. Then $b = bc \in br_R(J)$.

$(2 \Rightarrow 3)$ If $n=1$, then by (2), the proof is complete. When $n > 1$ one can choose $y_n \in r_R(J)$ such that $x_n = x_n y_n$ and $z_i = x_i - x_i y_n$ for $i = 1, \dots, n-1$. Proceeding inductively, we can find $y \in r_R(J)$ such that $z_i = z_i y$ for each $i = 1, \dots, n-1$. Now, put $y = y + y_n - y y_n \in r_R(J)$. It's clear that for each $i = 1, \dots, n$, $x_i = x_i y$. ■

Recall that a ring R is weakly n -semihereditary if each n -generated left (and/or right) ideal is flat [14].

Theorem 2.20. For a ring R and a fixed positive integer n , the following conditions are equivalent

1. Every n -generated projective right R -module is a purely Rickart.
2. The free R -module $R^{(n)}$ is a purely Rickart.

Proof. (1 \Rightarrow 2) Since every free module is projective, then it's clear that the free R -module $R^{(n)}$ is n -generated projective right R -module. So, by hypothesis, $R^{(n)}$ is a purely Rickart R -module.

(2 \Rightarrow 1) Let M be n -generated projective right R -module. So M is an image of free R -module A . So there's an epimorphism $\alpha: A \rightarrow M$. But A is a free and M is n -generated projective, then $\alpha: R^{(n)} \rightarrow M$ splits, where $A \cong R^{(n)}$. Hence M is a direct summand of $R^{(n)}$. By hypothesis, $R^{(n)}$ is a purely Rickart, then so is M (Proposition 2.4). \blacksquare

Proposition 2.21. For a ring R and a fixed positive integer n , then R is a right weakly n -semihereditary ring if and only if $\text{Mat}_n(R)$ is a right purely Rickart ring.

Proof. From [13, Theorem 2.10] R is a weakly n -semihereditary ring if and only if $R^{n \times n}$ is a PF [13, Theorem 2.10]. But $R^{n \times n} \cong \text{Mat}_n(R)$ then $\text{Mat}_n(R)$ is a PF if and only if for each element $A \in \text{Mat}_n(R)$, $r_{\text{Mat}_n}(A) \leq^p \text{Mat}_n(R)$ [5, Theorem 2.2, CH.6] if and only if $\text{Mat}_n(R)$ is a purely Rickart ring. \blacksquare

Proposition 2.22. If $R^{(n)}$ is purely Rickart R -module, where n is a fixed positive integer, then R is weakly n -semihereditary ring.

Proof. Let I be n -generated right ideal of R . i.e $I = \sum_{i=1}^n a_i R$ for some $a_i \in R$, $i=1, \dots, n$. Let $\alpha: R^{(n)} \rightarrow R$ defined by $\alpha((r_i)_{i=1}^n) = \sum_{i=1}^n a_i r_i$ clearly that α is a module homomorphism. Put $\psi = i \circ \alpha$ where $i: R \rightarrow R^{(n)}$ is the canonical injection map. Since $R^{(n)}$ is purely Rickart, then $\text{Im } \psi = \text{Im } \alpha = I$ is flat (Corollary 2.9). Hence R is weakly n -semihereditary ring. \blacksquare

References

- [1] A. G. Naoum, A. Mahmood and F. H. Alwan, On projective and flat modules, Arab J. of Math., 7, 1 and 2, (1986).
- [2] A. Hattori, A foundation of a torsion theory for modules over general rings, Nagoya Math. J., 17 (1960), 147 - 158.
- [3] A. H. Al Saadi, Purely Baer modules, MS.C Thesis, Al-Mustansiriyah University, 2008.
- [4] D. D. Anderson and M. Winders, Idealization of a module, J. of Comm. of Algebra, 1 (1), (2009), 3 - 56. <http://dx.doi.org/10.1216/jca-2009-1-1-3>
- [5] D. J. Fieldhous, Purity and flatness, PhD. Thesis, McGill University, 1967.

- [6] G. Azumaya and A.Faccini, Rings of pure global dimension zero and Mittag-leffler modules, *J. pure Appl. Algebra*, 62 (1989), 109 - 122.
[http://dx.doi.org/10.1016/0022-4049\(89\)90146-1](http://dx.doi.org/10.1016/0022-4049(89)90146-1)
- [7] G. F. Birkenmeier, Principally quasi-Baer rings", *Comm. in Algebra*, 29(2), (2001), 639 - 660. <http://dx.doi.org/10.1081/agb-100001530>
- [8] G. Lee, Theory of Rickart modules, PhD. Thesis, Ohio State University, 2010.
- [9] I. Kaplansky, Rings of Operators", Benjamin, New York, 1965.
- [10] J. A. Fraser and W. K. Nicholson, Reduced PP-rings, *Math. Japon*, 34, (51), (1989), 715 - 725.
- [11] L. Zhongkui and Z. Renyu, A generalization of PP rings and p.q.Baer rings, *Glasgow Math.* 48 (2006), 217 - 229.
<http://dx.doi.org/10.1017/s0017089506003016>
- [12] R. D. Mahmmod, On pure ideals and pure submodules, PhD. Thesis, Mosul University 2000.
- [13] W. E. Clark, Twisted matrix units semigroup algebras, *J. of Duke Math.*, 34, (1967), 417 – 423. <http://dx.doi.org/10.1215/s0012-7094-67-03446-1>
- [14] X. Zhang and J. Chen, On n-Semiheditary and n-Coherent rings, *Int. electronic J. of Algebra*, 1 (2007), 1 - 10.

Received: October 15, 2014; Published: December 4, 2014